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Laura's Let Str be a collection of subsets

of some set A .
Then there is a collection EBB

of disjointsubsets of A with
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In furt if A2R is countable, then uAA) = 0.

Pf : Let A= Garb Let 270. For each 1,

let In= @an-m
,
+Em) so Id= *

Then EIK3 is a measuring cover for A.





Prop : If a < b than

m
* ([a ,b]) = b - a.

Pf : We have already shew m
* (2

,b3) <b - a.

So it suffices to show thereverse inequality.

Let EI3 be a measury come of [a,b]·

Since the internal is compact we can extract a finate

subcaver &JE which is also a measury

cover of Gab] · Since 15
it suffices to show 5 b-a.








